Priorité des Opérations (F)

Nom:

Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

(7+5)x4-3-9

(2+8)x5-3-9

(9—6) x (5+8 x 3)

(9—6) x (7+10 — 4)

3x(6+4—5+9)

(4+8)x2-10-9

(9+5)x6—7+3

3x(7—4+2-05)

(8—3)x (7+4—6)

5x(2+8—4+3)
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Priorité des Opérations (F) Réponses

Nom:

Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

(745)x4—-3-9
—12x4-3-9
=48-3-9
=45-9

=36

(248)x5-3-9
=10x5—-3-9
=50-3-9

3x(6+4—-5+49)
=3x(10-5+9)
=3x(5+9)
—3x 14

— 42

(44+8)x2-10-9
=12x2-10-9
=24-10-9
=14-9

=5

—~

94+5)x6—7+3
=14x6—7+3
=84 —7+3
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